PI.	ANT	ENTER	PRISES	PRODUCTION

	Number of		Yield per	Total	Units of	Gross Farm
Crop	Producers	Acres	Acre	Production	Measure	Value
FORESTRY						
Pulpwood						
Hardwood				5,415	cords	
Pulpwood (Total)				5,415		
Saw Timber						
Hardwood				154,358	board feet	
Saw Timber (Total)				154,358		
Total Pulpwood, Chip & Saw,	,					\$445,070
Saw Timber FOB Mill						
Total Forestry Stumpage						\$160,274
Forestry (Total)						\$445,070
FRUITS						
Citrus						
Navels	*	3.0	500.00	1,500	bu.	\$21,000
Satsumas	*	2.0	600.00	1,200	bu.	\$12,000
Other Citrus	*	3.0	400.00	1,200	bu.	\$9,600
Citrus (Total)		8.0				\$42,600
Fruits (Total)		8.0				\$42,600
HAY FOR SALE						
Grass	12	2,820.0	2.90	8,178	tons	\$408,900
Hay for Sale (Total)		2,820.0				\$408,900
HOME GARDENS	3,390					\$1,017,000
NURSERY CROPS						
Fruit and Nut Trees	*				acre	\$8,000
Floraculture & Bedding	*				acre	\$3,000,000
Plants						
Woody Ornamentals	*				acre	\$500,000
Foliage Plants	*				acre	\$500,000

PΙ	A	NT	$\mathbf{F}\mathbf{N}'$	FFR	PR	PICEC	PRO	DII	CTION	
			1717	יועו ו		כועוכוו	1111	יטעי		

		LANI EN	<u>TERPRISES PROD</u>	UCTION		
Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
Nursery Crops (Total)						\$4,008,000
PECANS						
Improved	*	2.5	380.00	950	lbs.	\$1,093
Native	*	8.0	310.00	2,480	lbs.	\$1,488
Pecans (Total)		10.5				\$2,581
SUGARCANE						
Raw Sugar	*	2,442.0	6,559.00	16,017,078	lbs.	\$1,954,084
Molasses		2,442.0	197.00	481,074	gal.	\$69,756
Sugarcane (Total)		2,442.0				\$2,023,839
VEGETABLES						
Beets	*	3.0	400.00	1,200	doz. bunches	\$8,400
Broccoli (Fresh)	7	11.0	215.00	2,365	cartons (20 lbs.)	\$35,475
Cabbage					,	
Fresh	10	38.0	540.00	20,520	sacks (50 lbs.)	\$143,640
Cabbage (Total)		38.0				\$143,640
Cantaloupe	7	8.0	175.00	1,400	cartons (40 lbs.)	\$21,000
Carrots	*	1.0	410.00	410	doz. bunches	\$2,870
Cauliflower	6	8.0	405.00	3,240	cartons (20 lbs.)	\$48,600
Collards					,	
Fresh	6	3.0	230.00	690	doz. bunches	\$4,830
Collards (Total)		3.0				\$4,830
Cucumber						
Fresh	*	6.0	400.00	2,400	bu. (50 lbs.)	\$24,000
Cucumber (Total)		6.0				\$24,000
Eggplant	14	6.0	612.00	3,672	bu. (33 lbs.)	\$55,080

PI.	ANT	ENTER	PRISES	PRODUCT	ION

		LANT EN	<u>TERPRISES PROL</u>	<u>DUCTION</u>		
Crop	Number of Producers	Aarag	Yield per	Total Production	Units of Measure	Gross Farm
	Producers	Acres	Acre	Production	Measure	Value
VEGETABLES						
Garlic	*	3.0	300.00	900	lbs.	\$2,700
Irish Potatoes						
Fresh	*	5.0	145.00	725	cwt.	\$21,750
Irish Potatoes (Total)		5.0				\$21,750
Lima Beans						
Fresh	*	2.0	90.00	180	bu. (32 lbs.)	\$5,400
Lima Beans (Total)		2.0				\$5,400
Mirliton	*	2.0	1,700.00	3,400	lbs.	\$5,100
Mustard (Fresh)	11	8.0	610.00	4,880	doz. bunches	\$34,160
Okra (Fresh)	13	17.0	330.00	5,610	bu.	\$112,200
Onions	*	3.0	200.00	600	bag (50 lbs.)	\$12,000
Green Onions	10	5.0	1,202.00	6,010	lbs.	\$9,015
Parsley	*	1.0	850.00	850	doz. bunches	\$5,950
Peppers						
Banana	*	1.0	420.00	420	bu. (25 lb.)	\$5,040
Bell	14	12.0	390.00	4,680	bu. (28 lb.)	\$70,200
Peppers (Total)		13.0				\$75,240
Pumpkin (Fresh)	*	34.0	125.00	4,250	cwt.	\$85,000
Pumpkin - Cushaw	*	4.0	105.00	420	cwt.	\$8,400
Shallots	15	11.0	1,020.00	11,220	doz. bunches	\$56,100
Snap Beans (Fresh)	*	4.0	130.00	520	bu. (30 lbs.)	\$10,400
Southern Peas (Fresh)	*	2.0	100.00	200	bu. (24 lbs.)	\$4,000
Squash (Fresh)					, ,	
Yellow Squash	15	12.0	125.00	1,500	bu. (45 lbs.)	\$18,000
Winter Squash	7	4.0	190.00		bu. (45 lbs.)	\$10,640
Squash (Fresh) (Total)		16.0			,	\$28,640
Sweet Corn (Fresh)	*	6.0	505.00	3,030	doz. ears	\$9,090
,				,		. ,

PLANT ENTERPRISES PRODUCTION

Crop	Number of Producers	Acres	Yield per Acre	Total Production	Units of Measure	Gross Farm Value
VEGETABLES						
Tomatoes (Field)	17	20.0	1,480.00	29,600	lugs (20 lbs.)	\$444,000
Turnips (Fresh)	6	5.0	590.00	2,950	doz. bunches	\$20,650
Watermelon	*	10.0	95.00	950	cwt.	\$5,700
Vegetables (Total)		255.0				\$1,299,390
TOTAL ALL PLANT ENTERS	PRISES					\$9,247,380

FISHERIES & WILDLIFE ENTERPRISES PRODUCTION

Fisheries	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
AQUACULTURE					
Soft-shell Crabs	15		7,000	doz	\$147,000
Aquaculture (Total)			,		\$147,000
FRESHWATER FISHERIES					
Catfish (Wild)	113		73,342	lbs.	\$34,251
Other Finfish			5,691	lbs.	\$1,036
Freshwater Fisheries (Total)					\$35,286
MARINE FISHERIES					
Shrimp	42		5,880	lbs.	\$7,032
Crabs	141		2,756,800	lbs.	\$1,769,866
Marine Fisheries (Total)					\$1,776,898
FUR ANIMALS			475	pelts	\$2,518
ALLIGATORS (WILD)			9,427	ft.	\$207,405
HUNTING LEASES	10	4,100 No. Acres		acre	\$49,200
		Leased			
HONEY	*	177 No. Hives	11,505	lbs.	\$15,532
TOTAL ALL FISHERIES & V	WILDLIFE ENTERPRISES				\$2,233,839

ANIMAL ENTERPRISES PRODUCTION

		AL ENTERPRISES P	KODUC HO			
Animal	Number of	Units of		Total	Units of	Gross Farm
	Producers	Production		Production	Measure	Value
CATTLE & CALVES						
Steer Calves						
300-400 lbs.					head	\$83,212
400-500 lbs.				1,258	head	\$525,850
500-600 lbs.				174	head	\$79,948
600-700 lbs.				118	head	\$61,360
Steer Calves (Total)						\$750,370
Heifer Calves						
300-400 lbs.				410	head	\$131,245
400-500 lbs.				720	head	\$271,415
500-600 lbs.				150	head	\$63,888
600-700 lbs.				90	head	\$43,875
Heifer Calves (Total)						\$510,423
Yearling Cattle						
600-700 lbs.				290	head	\$150,800
700-800 lbs.				210	head	\$118,125
Yearling Cattle (Total)						\$268,925
Cow-Calf Pairs				170	pair	\$122,400
Cull Cows				1,029	head	\$339,802
Cull Bulls				284	head	\$207,462
Cattle & Calves (Total)	28	4,890 No.	. Cows			\$2,199,381
HORSES						
Brood Mares						
Show Horses	8	24 No.	. Brood Mares	9	head	\$27,000
Recreation Horses	16	29 No.	. Brood Mares	12	head	\$18,000
Brood Mares (Total)						\$45,000
Stud Fees						
Show Horses		9 No.	. Stallions	21	mares bred	\$31,500
Recreation Horses		27 No.	. Stallions	39	mares bred	\$3,900

ANIMAI	ENTERPRISES	PRODUCTION
		INODUCTION

Animal	Number of Producers	Units of Production	Total Production	Units of Measure	Gross Farm Value
HORSES					
Stud Fees (Total)					\$35,400
Show Horses	35		100	head	\$400,000
Recreation Horses	150		300	head	\$300,000
Horses (Total)					\$780,400
SHEEP					
Wool		8 No. Sheared	110	cwt.	\$18
Slaughter Lambs			4	head	\$393
Feeder Lambs			4	head	\$258
Sheep (Total)	*	8 No.Breeding			\$668
		Ewes			
GOATS					
Slaughter Goats				head	\$1,020
Cull Goats			7	head	\$294
Goats (Total)	*	11 No. Does			\$1,314
SWINE					
Show Pigs				head	\$2,400
Feeder Pigs				head	\$432
Slaughter Hogs				head	\$618
Culls			3	head	\$330
Swine (Total)	*	8 No. Sows			\$3,780
EXOTIC ANIMALS					
Deer/Antelope	*	135 No. Animals	98	head	\$12,250
Exotic Animals (Total)					\$12,250
TOTAL ALL ANIMAL EN					\$2,997,793
ST. CHARLES PARISH	H TOTAL				\$14,479,011